Sec 4.2.4
Applications

The percentage of adult height attained by a
boy who is x years oId can be modeled by

f(x) = 29 +48.8 log (x+]) o0
~___ went

where x'represents the boy's age gfrom 5-15) and
f(x) represents the percentage of adult height.
Approximately what percentage of adult height
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The magnitude, R, on the Richter scale of an earthquake of infensity |
is given by

R=log I/l

where |, is the Ngnsity of a barely felt zero-level garthquake. The

ed San Francisco in 1206 was 108'3 times as
hquake. What waglit's magnitude on the
ter scale?

earthquake that destr
infense as a zero-level e



When the oufside air temperature is anywhere fr 72° 10:96°

FoWTemperaTure in an epclosed vehicle climbs by 43°
Wur The function f(x) =13.4Inx-11.6 models the
emperafyre increase, f(x), in degrees Fahrenheit, after x minutes.

Use the function to find the temperature increase after 50 minute

200 = 134 fn 50 1146
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